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Potato and Brinjal differ in this taxon
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Identify the correct statements

et S et

L Prof. V.S Ramdas is a famous taxonomist of India

« [+ a = 2
Y, OVt o .r,v:""f':.c,'t-sk.-,’i:l'i;_udl_gsffs.:_

II. 23srRNA is Ribozyme
..g_rl"’lj{:'u..J:IZ_?s rRNA

III.  Genetic nature of RNA was discovered by Watson and Crick
-L;_Uf.'.'.:’i..uL._J/J:'slg"'jluf:.-ffgﬁ JR?‘GA

IV.  Cronquist proposed phylogenetic system of classification
__L-;%;JAE.;MI’LE;J@JIUPL ..:.-:r;‘,}"{iff
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Question Number : 3 Question Id : 2839364643 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



Match the arrangement of vascular tissues with the type of steles below.

a. Stele with medulla surrounded by xylem and phloem I.  Protostele
b. Dissected Medullated Stele with overlapping leaf gaps II.  Siphonostele
c. Medullated stele with non overlapping leaf gaps III. Solenostele
d. Non-medullated stele with xylem surrounded by phloem IV. Dictyostele
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28393618569, * a-IIL, b-IV, ¢-II, d-I
28393618570, % a-III, b-II, c-1, d-TV
28393618571, % a-IL, b-IV, ¢-1, d-1I1

28393618572, ¢ a-1I, b-1V, c-I11, d-1
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Match the three columns and identify the correct combination
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Group-I Group-11 Group-I111
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1. Puccinia P. White spots in Brassica X. Basidiomycetes
b{f IR AD S ’Lgl_-".'f.

2. Alternaria Q. Leaf rust in Wheat Y. Phycomycetes
V-7l s Sund =1 B¢

3. Albugo R. Early Blight in potato Z. Deuteromycetes
!FJ'.J' d-zﬂ,—{fd«"u':ﬁ'f '/’-:'-7’4.,-_;*55

Options :



23393618573 ¥ 1 ~R—-X, 2-Q-Z, 3-P-Y

23393618574 ¥ 1-Q-X, 2-R-Z, 3-P-Y
18393618575, % 1-Q—-Z, 2-P-X, 3-R-Y

22393618576, # 1 - Q-Y, 2-R-X, 3-P-Z
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Which of the following plant examples are wrongly paired with their type of
inflorescence.
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A. Hamelia and Solanum — Dichasial cyme

. .
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B. Bougainvillea and Jasmine — Cymule

J.!_'.f}b‘... bﬁ;s'gﬂyf

C. Hibiscus and Datura — simple Raceme

sl U;’n.ﬂutm;f

D. Cauliflower and Cassia — corymb
= ~ Iﬁ'
:;”{- L .r:!..__;: Jr‘f}
E. Achyranthes and Grass — Umbel
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Options :
28393618577, % A, B&D

28393618578, ¢ A, C & E

28393618579, * C, D & E

28393618580, * B, C & D
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Which of the following statements regarding endosperm of angiosperms are true?

& P L unLugmsetulic?
A. Endosperm is formed by triple fusion
ctn sl tbe f£F Ui
B. Endosperm is nutritive in function

<dF LS o

C. Itis a pre-fertilized structure

";:._’-jL’JJSJEUELn-gl:r
D. It may or may not be completely utilized by the developing embryo
f_rTur:JL-}!J""t_L_J;,_gﬁigﬁ:‘s;
Options :

28393618581, ¢ A, B& D

28393618582, * A, B& C
28393618583, % B,C & D

28393618584 % A, C & D
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An anther of a typical Datura flower produces 256 microspores in each of its

microsporangium. What is the total number of microspores produced by that flower

and how many microspore mother cells are required to form these microspores?
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Options :

28393618585, % 2560, 640

28393618586, % 640, 2560

28393618587, % 1280, 340

28393618588, « 5120, 1280



Question Number : 8 Question Id : 2839364648 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Arrange the following events in the order of their occurrence in an angiospermic

flower
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A. Megasporogenesis
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B. Syngamy
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C. Embryosac development

VRt

W

D. Pollen pistil interaction
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Options :
28393618589, ¥ BDCA

28393618590, # ACBD
28393618591, v ACDB

28393618592, ¥ DACB
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Find out the wrongly matched groups
. P P y
S S Lginsk

A. Datura - bicollateral vascular bundles - Epipetalous stamens

E;J-;t._;lp—a‘i- L.?L,:LHV::?H.. Vizs
B. Allium - polyembryony - Protogyny
L,.‘G"}'lf - le;l.:fr:? :- - l/-{l

C. Smilax - tendril climber - parallel venation
' 7 & T » & (
UM 0015 - L—-J!JJ‘EL&:&Z— J{L:r
D. Asparagus - Cladophyll - Xerophyte

R
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Options :
28393618593, % ABC

28393618594, « BC
28393618595, % BCD

28393618596, ¥ ABCD
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Match the following plants with their Botanical names

iz A Lurtdee Lofunydic”

Column -1 Column —11
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A. Meadow Saffron 1.  Yucca gloriosa
I d W1
B. Red Dragon 2. Smilax zevlanica
< (LY, E__:.a:‘,-hfe*/’
C. Sarasaparilla 3. Dracaena anguistifolia
th AL Yo
D. Spanish Dagger 4.  Colchicum autumnale
Al LT
Options :

28393618597, % A-2, B-3, C-4, D-1
28393618598, * A-2, B-1,C-3, D-4
28393618599, ¢ A-4, B-3, C-2, D-1

28393618600, * A-4, B-2, C-1, D-3

Question Number : 11 Question Id : 2839364651 Question Type : MCQ Option Shuffling : Yes Display Question Number
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0
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Assertion (A): If the chromosome number is 2n during G, after S phase the
chromosome number is the same
Reason (R) : After S phase there is no increase in DNA per cell
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The correct option among the following is
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A and R are true. R is the correct explanation for A

sssoseiggo). %~ s(RIEL(A) -5 (R) 41(A)

A and R are true , but R is not the correct explanation for A

’ -~ J
28393618602. * e 2ol s(RIE L(A)a‘g_g.;«;: (R) #1(A)

A is true, but R is false

28303618603, v ~52¥ (R)¥ e ss(A)

A is false but R is true
28393618604, % ~5="4 (R )o'y{_hL’(A)
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Which of the following sentences are true

-u::.-..cg.f S
A. The chromosome number of meiocyte in housefly is 6.

T . 1s wuit ' #
conIlpladI L EF Lok S
B. The chromosome number of gamete in Rat 1s 21.

.:'_d:c 21:13'._:"'.%—::';_5:'._,:;',;5,-_-_5,

C. The chromosome number of meiocyte of fruitfly is 8.
8 Sl dd st L5

D. The chromosome number of a leaf cell in maize is 20.
20558 pL213d s Us® Luild

Options :

28393618605, % ABC

28393618606, ¢ BCD
28393618607, ¥ CDA

28393618608, ¥ ABCD
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Correct Marks : 1 Wrong Marks : 0

Identify the incorrect statements regarding cell membranes
E GBS s G Ly §#

A. The hydrophilic head of lipids is present towards inner side of cell
membrane.

.T_.:ﬁ:’.ritggrm“f.ugdﬁl/‘fﬂﬁ

B. The lipids of cell membrane are made of phosphoglycerides
e batie i B 6 I § 4

C. Cell membranes may also contain carbohydrates
bbb e A ML U §

D. The quasi fluid nature of lipids does not enable lateral movement of proteins
with in the bilayer
e Fu S L 7S Lui S E S Fret S AL

Options :

28393618609, v AD

28393618610, ¥ AB
28393618611, ¥ CD

28393618612, % BC
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Which of the following statements are false regarding the nature of amino acids?

A. The acidity and neutrality of amino acids is based on number of amino and
carboxyl groups.

B. Both NH: and COOH groups of amino acids show ionizable nature.

In solutions of different pH, the structure of amino acids does not change.

D. The amino acids have amino group and aldehyde group as substituents on the
same carbon.
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28393618613, ¥ AB
28393618614, ¢ CD
28393618615, % BC

28393618616, ¥ AD
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Which of the following statements are true regarding lipids?

d=tef 37 Lt

a) Glycerol 1s a simple lipid trihydroxy propane.
& *..*-'451,1_"#3'-"%.%#-&";)'1%"-

b) In triglycerides fatty acid 1s esterified with glycerol.
e AR LIk 23 piub

¢) The melting point of oils is higher than that of fats.
e bniia Jpg oAUk

d) Saturated fatty acids do not have double bonds
u_’?du_xu':';a'cd_/:uu’:u;}ofp}{

Options :



28393618617, v abd
28393618618, % abc
28393618619, % acd

28393618620, % bed
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Which of the following statements are correct regarding ribosomes?

wetl O L g
A. 708 ribosomes have two sub units 508 and 30S.
Z %308 #1508 UUHIS s AU 1 L 708
B. 80S ribosomes are present only in Eukaryotes.
B LU YIS AU L 80S
C. 70S ribosomes are present both in Eukaryotes and Prokaryotes.
u_?Z.k?i._L_J:ulx.u'Jl;’U:""-'.uidl.to’ul'(u;nu’ps.?rfbd:fj'?ﬂs
D. Ribosomes are not bound by any membrane.
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28393618621, % ABC

28393618622, % ABD
28393618623, ¥ BCD

28393618624, v ABCD
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Which of the following statements are incorrect regarding internal organization of
plant tissues
e L E a3 LA Jun§uPLuny
A. Phloem parenchyma is absent in dicotyledonous stem
g&ﬁ:ﬁ:’;ﬁ:ﬁ;iﬂjj‘j;’ruﬁﬁéﬁu
B. Monocot roots do not undergo secondary growth
LS ST 2B
C. Hypodermis is sclerenchymatous in monocotyledonous stem
+ﬁfj LR oI LI S L
D. Lysigenous cavities are found in vascular bundles of dicotyledonous stem
;:._'Q::&lpr:.i_»(jgucur‘:?éhd:;fzzﬁn
Options :
28393618625, % AB
28393618626, % AC

28393618627, % BC

28393618628, ¥ AD
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Identify the monocot stem characters

I. Exarch xylem
I1. Absence of medullary ray
ITII. Presence of bundle sheath
IV. Scattered vascular bundles
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18393618630, v 1o IL &IV

28393618631, # T&IV

28393618632, % LII &IV
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During CO: fixation of photosynthesis, Oxaloacetic acid is formed in which

cells?
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Options :
Mesophyll cells of C;3 plants and bundle sheath cells of CAM plants
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Bundle sheath cells of both C4 plants and C3 plants
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Mesophyll cells of both CAM plants and Ca plants
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rs303615635. v o 04l LUny CqnCAM s

Mesophyll cells of CAM plants and bundle sheath cells of C4 plants
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Match the following scientists with the discoveries in photosynthesis

A. T.W. Engelmann 1. Glucose production during photosynthesis
B. Julius Von Sachs 1.  Hjreduces CO; into carbohydrate
C. Carolius VonNeil 1.  Green plants release O
D. John Inzenhousz iv.  Photosynthesis in Cladophora
iz YA UM S
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28393618637, % A-ii, B-1, C-iv, D-iii
28393618638, # A-iv, B-ii, C-1, D-1ii
28393618639, # A-i, B-iv, C-ii, D-iii

28393618640, ¢ A-iv, B-1, C-ii, D-iii
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The Phosphatase, that catalyses the reaction in which phosphate is removed from

Fructose-1-6-bisphosphate to form Fructose-6-Phosphate belong to which class of
enzymes
UI:L[@fﬁ:fpw:xi_lsi_iltfui;f’Li_(a_}fr:z;f"t;s’/;w,;i’ﬁc;._:—-f’ﬁjf-ﬁ-] 5
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Options :
Transferase
28303618641, 8 4LV
Ligase
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Hydrolase
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28393618643, ¢

Oxido-reductase
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28393618644, % % A4
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The essential component of many co-enzymes are

T @)U Bes LU les (W)t T
Options :

Vitamins

e CI

28393618645. ¥

Metal 1ons
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28393618646, %

Hormones

o 92 )

28393618647, #

Lipids
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In which of the following reactions of TCA cycle of aerobic respiration NAD is

reduced to NADH+ H

et UANADH + H*NAD & 5L = b3 f L mTCA Lo N

A. Oxidation of isocitric acid
25 s

B. Oxidation of u-ketoglutaric acid
o~ J_;':}'_ﬂgf #. o

C. Oxidation of succinic acid
FE 26

D. Oxidation of malic acid
ALYV

Options :

28393618649, % AB

28393618650, % AC
28393618651, % BCD

28393618652, v ABD
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Identify the Plant Growth Regulators that inhibit apical dominance, delay senescence,

promote root hair formation and play an important role in seed development and

maturation respectively are
s Al e - . ( 5 . 3 7 . '_HE 5
MU LB Il iS40 JE;?:;EL..) 2bed f;g”rﬁi;;)(;—;ﬂku’bﬂ@u L'Z.!"ul_r'
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Options :
Auxins, Abscisic acid, Ethylene and Cytokinins

—— o ““ - 1
28393618653, % S 12 LS

Cytokinins, Gibberlic Acid, Ethylene and Absisic acid

=% e - A= r llI"- b
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Cytokinins, Gibberlic Acid, Auxins, Absisic acid

28393618655 % ~reket S ITE2M A 7 €F L

Auxins, Ethylene, Cytokinins, Gibberelic acid

- -, o Y
28393618656 % :’f—ﬁﬂ ol 1o L"Wf'L'f"u S

Question Number : 25 Question Id : 2839364665 Question Type : MCQ Option Shuffling : Yes Display Question Number
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Which of the following statements truly justifies osmosis of water through a

selectively permeable membrane?

; -
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Options :
Movement of solvent from a region of higher solvent concentration to a region of
lower solvent concentration

28393618657. ¢ 'T-”Jﬁduﬁi-"iﬁ'ﬂr’:—d‘b Lo 2598 )

Movement of solvent from a region of lower free energy or chemical potential to
region of higher free energy or chemical potential.

28393618658, % 'f"t’f'—';)d";Jl:L:".."‘f-l'.dj"';"—;T*J'JC-”’UEJ%JW;-‘UT#ﬁ-:‘!(u“;

Movement of solvent from a region of higher solute concentration to a region of
lower solute concentration

o br PSS L af = 7 L a2k )

28393618659.

Movement of solvent from a region of lower water potential to a region of higher
water potential
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The net ATP formed by substrate level phosphorylation, oxidation of NADH + H"

and oxidation of FADH: during aerobic respiration of five glucose molecules are

u':i uu'- ffl’Lr'?J—f "’I‘-”u..l-l"ra—f i-----l..r'-= ® LI!'(_,LJLf‘_,Jj}gUb
LS ATP Ll S o e 3L 45 S FADH, s %+ SNADH + H*

Options :
28393618661, % 10,70,10

28393618662, ¢ 20,140,20

28393618663, ¥ 20,160,10

28393618664, # 10,140,10

Question Number : 27 Question Id : 2839364667 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Which of the following bacteria get carbon from CO; but derive energy from

oxidation of inorganic substances during bacterial nutrition?

L}!:LJ‘L":;": L}Ll"uﬂ JK ELFJTL:".:Q'-JFL_:}'?:LJ;J:UE.:.._.—)c,"z!.'-:':-yﬁdk/;‘g’

- t'f L"’l..:w;.
Options :
Bacillus and Xanthomonas

28393618665. % u*-!’:’“'mlfl,

Rhodospirillum and Rhodopseudomonas

28393618666, # g'tf:.:r’!j!.uﬂfk,:;!;u

Chromatium and Chlorobium

& -
28303618667, 8 (Fa (e s/

Nitrobacter and Beggiatoa

s
28393618668, ¥ Eums FRafb

Question Number : 28 Question Id : 2839364668 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



Which of the following viruses are cancer causing?

Blnenl K umd S L)
Options :
Herpes, AIDS and Ebola

r* d
28393618669, % VRl Al ot

Rabies and Neonatal Rubella

28393618670, % s JeC Ll L

Human Papilloma Virus and Chronic Hepatitis B

_r:..") ’i [ M AT '1 -I
18393618671, ¢ BV Akl sl Ak OV

Chicken pox and warts

¥ -

’ L%
28393618672, % & AV L

Question Number : 29 Question Id : 2839364669 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

Match the following
List-I List-II
A. Sutton and Boveri i.  Chromosome map
Szasumls” SEErs S
B. Alfred Sturtevant ii.  Mutation
&-:.f)!t"%/dl UK
C. Hugo-de-Vries ii1. Chromosomal theory of inheritance
s P R R} .
Jird = A G902
D. T.H.Morgan iv. Linkage
JAHT Lily
Options :

18393618673, ¢ A-lil, B-1, C-ii, D-iv
28393618674, % A-ii, B-1, C-1ii, D-1v

28393618675, % A-iil, B-ii, C-1, D-iv



28393618676, % A-il, B-iv, C-i, D-iii

Question Number : 30 Question Id : 2839364670 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

[dentify the wrong statements among the following.

A. Deletions and insertions of base pairs of DNA cause frame shift mutations

B. UV radiation cannot trigger frame shift mutation

C. The genes linked closely on the same chromosome have more chances of
recombination

D. Test cross ratio of a dihybrid Mendelian cross would be 1:1

YN I 4

M3l LB E ) okl F SoUd 2T WL DNA <A
LSS, Ser 232 )3 UV B

Bl LGP e e ne tnae} 1t 3G LIC

r"_l:l::: 1l 3 b1 L J i D
Options :
28393618677, % A, B&C

28393618678 ¢ B. C & D

28393618679, # A,C& D

12393618680 % A, B,C & D

Question Number : 31 Question Id : 2839364671 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Which of the following examples are best studied examples (plants / animals)

respectively for the genetic studies on Incomplete Dominance, Co-Dominance,

Independent Assortment and Linkage

Sbtsost 65 T e fee e St 2B L e St | Ung 24 A e Lz
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Options :



Snapdragon, Lens culinaris, Pea, Drosophila

. N e
¥lise oS w1
28303618681, ¥ £ TV ['-‘-J’:(’J Ch

Drosophila, Snapdragon, Lens culinaris, pea

. - .
« g RS s

28393618682.

Snapdragon, pea, Lens culinaris, Drosophila

Llji'r-'r,f;'Ju ..'T. .
28393618683, % = ¥ S RIT e L Mg

Lens culinaris, Snapdragon, pea, Drosophila

Tk AT sl
28393618684, % £ 1A "-‘v_::’*u”/zj:“"j

Question Number : 32 Question Id : 2839364672 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
In a transcription unit the coding strand 1s

-g.-@).fﬁfufdﬂhfg;}_
A. Found in DNA
.‘:'_.LEJJG/JU’:DNA
B. Found in RNA
C. Codes for hnRNA
< t/3//hnRNA
D. Does not code for anything
eSS
Which of the above statements are true
-ﬁ:_y;:uf:,ty.ii_u;ﬂ

Options :
28393618685,  AC

28393618686, ¥ AB
28393618687, v AD

28393618688, ¥ BD



Question Number : 33 Question Id : 2839364673 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
DNA of ¢ x 174 bacteriophage has

- Lt DNA L KTl 2hex174 -
Options :
48502 Nucleotides

28393618689, * u’%'i?mh/{%ﬂ)?.

5386 Nucleotides

28393618690, ¥ u’f'-’:.‘;’ﬁ.'ish

5386 Nitrogen base pairs

28393618601, % ULIZGUIF 3£ 15386

48502 Nitrogen base pairs

28393618692, %  LIZULAG s F 148502

Question Number : 34 Question Id : 2839364674 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
The number of nitrogen base pairs in haploid human DNA and Escherichia coli

DNA respectively are

AL e AL 25 WS DNA £ E.Coli 1% DNA Ui/ L
Options :
18393618603, % 4.6 x 10° bp and 3.3 x 10” bp

28393618694, % 4:6 X 10” bp and 3.3 x 10° bp
28393618695, v 3-3 X 10” bp and 4.6 x 10° bp

28393618696, % 3-3 X 10°bp and 4.6 x 10” bp

Question Number : 35 Question Id : 2839364675 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



During biochemical characterization of transforming principle by Avery, MacLeod and
McCarty, the biochemicals from heat killed S cells were purified and digested with

proteases, RNAase and DNAase. Digestion of DNA with DNAase enzymes shows
) * . /# & I" ~ 33 r 3 b #
=._,c;:s,;_,furks Lér‘x .;_-Jl..r:.-L..:,_L_-ﬂf""J_Vfd?iJﬁld,d;i._b/;.d.;b’_._ﬁ:usl.ﬁjy_‘_f;su{sl

-/ DNA 02 = Us 6 DNAase V™ o Uitd B> <2 DNAase s/RNAase
Options :
No effect of transformation

-
iy.‘..:ﬂ/d,ti.(
28393618697, ¥ et

Inhibition of transformation

§ Il
28393618698, ¢ O ALY 4

Delays transformation
28393618699, % 2 FURUALE

Promotes transformation

St 2L
28393618700, % =W USUALE

Question Number : 36 Question Id : 2839364676 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
The first artificial rDNA was constructed by using a native plasmid of which of the

following organisms?

BV e P It WV LS )y 6-Gs S iDNA § W(Jg)ém -
Options :
Salmonella typhimurium

.’
28393618701, ¥ 1{‘-1-":;:1'&’]“
Escherichia coli
1 &
28393618702, % V”;-l-"i/-'ci'

Agrobacterium tumifaciens

- ‘ H #
- k b
28393618703, ¥ J{M’:!{/:'guﬁl



Propionibacterium sharmani

] PONT) 'I -t
28393618704, % WY 250894

Question Number : 37 Question Id : 2839364677 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Agarose is a

S YA
Options :
Synthetic chemical from sea weed

28393618705, ¥ ‘;"‘J-/J’;”U"'L—”UVL’C-M}/:U’JP"

Natural polymer from sea weed

28393618706. ¥ /fﬁ“}‘ﬁ”"i-ﬁfbc-u}gd;;f

Synthetic chemical from Basidiomycetes fungi

;i_,a:’.-ji-“uuf’._nu“b;,fﬂtg:r:.

28393618707. *

Natural polymer from Ascomycetes fungi

’ 5 - . 3 » ". -~
28393618708, ¥ /f'J';W**’”'”—f'vabc-fJ'fuﬂ

Question Number : 38 Question Id : 2839364678 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
In a rDNA cloning experiment, which of the following helps to identify and eliminate

non-transformant normal Escherichia coli cells

_cj_r‘.»";*u':it:;;sl.:.itfdlg#jd: E.Coli J.:l::..u':'-ul'?i:/_-“ u,'l..r:.';':.._ﬁ L,’:f/g;;:j:gﬁ.rDNA
Options :
Origin of Replication (Ori)

28393618709, % (()rj)_-_,i.;,/"dJ'.

Selectable marker

28393618710, ¢ < ‘e

Cloning site

r »~
28393618711, % w;'?fw..by‘



Competent host

28393618712. # dl:);':JU

Question Number : 39 Question Id : 2839364679 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Biofortification is required to remove hidden hunger. Vegetables and fruits are enriched

with different minerals and vitamins by using plant breeding methods. Which of the

following IARI varieties are enriched with Iron and Calcium
._n'f';L,r:w‘{.".u!ug;ﬁiﬂb’-’l:(u:'"'.{)’d"’dy_g.:.nﬁdﬂji% Sfiwd J.L.J:s::(_.',fuf;
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i A K I NARL E S e 5 e bl 2 U bl o
Options :
Spinach and Bathua

1:5‘-1:'..63

28393618713. ¢

Carrot and pumpkin

28393618714, % Wi 26
Carrot and French bean
e :-"' 3 Fd
28303618715, % e &/l 7 ¢

Spinach and garden pea

P L oS
g J’I—AJL
28393618716. # / - T

Question Number : 40 Question Id : 2839364680 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
The microbial biocontrol agent that can be introduced to control butterfly caterpillars is

e
k b

. ] p : - . s
_.E‘IFL'I JJW’(;::{IJ!/PJ dk—"d:' -‘;U'l-cl-é-&-)/d.’/ .-'rb’.-‘ér? - 'n}
Options :
Bacillus thuringiensis

28393618717 ¢ V':'{-"ﬁu{b



Trichoderma viridi
~
~h M =‘J' ‘;
28393618718, ¥ W A&LIv2%e

NPV (Nuclear Polyhedrosis Virus)

P | [ "
(NPV)U A )™ 00408 £y
28393618719, # st - ~u-r/{"

CPV (Cvtoplasmic Polyhedrosis Virus)

28393618720, ¥ ((-‘PV)J}"!Q"/;;&'LJE.J-L}:j:'L.-
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Question Number : 41 Question Id : 2839364681 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
The extra food is stored in this form in eukaryotic, multicellular heterotrophs.

g/ Vr.‘.'uﬁ,'lg,/fiK.rlﬁdlﬁ;'lj;ﬂftjgﬂ,ﬂ‘dﬁ,é-' SN o
Options :
Starch

28303618721, % S
Glucose

p

28393618722 % }:'/,-K
Glycogen

o
28393618723. ¢ P41



Amino acids

28393618724, % /4% |

Question Number : 42 Question Id : 2839364682 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Statement I : Cryopreservation is one of the methods of insitu conservation.

Statement Il : Red data books are published by the ICZN.
e I PEFEENBLF = 1 ok

-

e ST/ 0T34, 102N T

The correct option among the following is

ral

SN0 c..;_)futi,g.u
Options :
Both statements | and II are true

£ T ] =Ll

,
28303618725, % e &

Both statements I and II are false

s 11 sl T bl

28393618726, ¢ e

Statement [ is true. But statement 11 is false

e & 10k

28393618727 %

Statement [ is false. But statement 11 is correct

;._éilwt_,.--.;_wwg

28393618728, %

Question Number : 43 Question Id : 2839364683 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



Assertion (A) : Radial symmetry is an advantage to sessile animals.
Reason (R)  : They live in water and respond equally to stimuli that arrive from

all directions.
g#efﬁfﬁjbﬂ"'ii;tff =IL(A) of s
,.,-/l"-l-ff_ "',‘g‘._‘; g s® i o i b g ) (R)
ML ANPIE) 2K F s 2 e " VJ:FVH-.{...:I/U»;J:J&:,. R).>s

The correct option among the following is

é-_'.-f;:‘lga-d:ut}qﬂ

Options :
A and R are true, R is correct explanation for A

-
28393618729. ¥ s REL Av.’?f';' Jre R alA

A and R are true, but R is not correct explanation for A

28393618730, # “T-'J:‘}-""L"’-'-“-”’ REL Auz?f:ﬂuiu R sl A

A is true. But R is false.

: Q F
28393618731, % &2 RU=<C A

A is false. But R is true.

- o~

Lo B .
28303618732, % O RUF<BEA

Question Number : 44 Question Id : 2839364684 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



Study the following and pick up the correct statements

I. Intercalated discs are peculiar to skeletal muscles

II. In nervous tissue only ependymal cells develop from mesoderm
[II. Neutrophils are commonly called microscopic police men
IV. Most of the cranial bones are dermal bones

-é.-.ﬁn;éu’;,rgf L6t
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Options :
28393618733, # L 11

28393618734, ¢ 1L IV
28393618735, # L 111

28393618736, # IL 1V

Question Number : 45 Question Id : 2839364685 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



Match the following.
Larva
A. Parrenchymula
B. Cydippid
C. Miracidium
D. Trochophore
_Ljﬁfruti.?iﬂ
lg/'
Us? B z-A

ii-_B
e

#52.D

Options :
23393618737 # A-1IILB-IV,C-V,D-1

28393618738, # A-IV,B-1,C-V,D-II
28393618739 % A-II. B-V.C-LD-III

28393618740, ¢ A-1IILB-L,C-V,D-1I

Question Number : 46 Question Id : 2839364686 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

0
Correct Marks : 1 Wrong Marks : 0

Phylum
[. Ctenopohora
II. Annelida
III. Porifera
IV. Echinodermata
V. Platyhelminthes

e
|.:3;;.‘.: o1
| aA~ % |

The functions of enteronephric nephridia of Pheretima.

. #n  F -
Jb!!b/k;. s/ &S s ez
Options :

Osmoregulation and excretion

- > . : J I
25303618741 v AP0 5oy



Excretion and digestion

ALl 7

28393618742, %

Digestion and respiration

l -
28393618743, ¥ J -~
Osmoregulation and digestion

. . - =2 '
28393618744, % AN NN '8

Question Number : 47 Question Id : 2839364687 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Jaw less fish like vertebrates are.

ukfd/'éd'!f—-k’-/-"‘-'

Options :
Tunicates
~
AW
28393618745, % & " LXK
Osteichthys

!‘ .u
P! el
28393618746, % g V"'r

Cyclostomes
st ¥
4
28393618747. ¢

Apods

-
28393618748, % %+

Question Number : 48 Question Id : 2839364688 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



Statement I : In frog, buccopharyngeal cavity acts as a force pump during

pulmonary respiration.

Statement II: Vocal sacs and amplexy pads are formed in female frogs during

breeding season.

et S AP E i 33 QS 1 -

‘:-_Cd/,rgdf_ﬁf" ;;luyﬂﬁufbfa:t.ur:( rE47 gl

The correct option among the following is

é._-b:léﬂr_. d:J_E.._nJ

Options :
Both statements | and 1l are true

28393618749, ¥ Ugéﬂ | Z1) 31 P

Both statements I and I are false

28303618750, % W2 1 T =Ll

Statement [ is true. But statement 11 is false

ek e 1ok

28393618751, ¢ &

Statement | 1s false. But statement 11 is correct

+g Il c,-_l,.d?,;_w [k

28393618752 %

Question Number : 49 Question Id : 2839364689 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Among vertebrates, renal portal system is absent in

_,—:_.t'mﬁr/;}r dl.:fufu,_s_’/.a

Options :
Myxine, Macropus, Felis

3 I .,
28393618753, ¥ ﬂ‘u'/‘m%/f



Columba, Hemidactylus, Panthera
- 8 » ,
2L J".'.)" 3Ty

Pteropus, Elephas, Labeo

28393618754, %

/ »
= o
28393618755, # ”J‘v':é'"V* -

Scoliodon, Rana, Antelopa

.I:_)J:'*h[:bccﬂy;ﬁl

28393618756 #

Question Number : 50 Question Id : 2839364690 Question Type : MCQ Option Shuffling : Yes Display Question Number

0
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Match the following:
List—I
A. Parasitic castration
B. Neoplasia
C. Gigantism

D. Hypertrophy

-55_.;_0?[‘_}'__3.‘:-}.&?

| O
K]
LI
(23 1k 111
Py \Y

(s _v

Options :
28393618757. * A-1LB-IV,C-1LD-V

28393618758, * A-1IIILB-LC-1IV,D-V

18393618759, v A-V,B-1V,C-1, D -1ll

: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :

List — IT
I. Larvae of Fasciola
II. Taenia
III. Plasmodium
IV. Some viruses
V. Sacculina
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28393618760, % A-V,B-1V,C-LD-1I

Question Number : 51 Question Id : 2839364691 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Identify the mismatched pair

A AT

Options :
Wuchereria - Histozoic parasite
Lab s J ~
28303618761, % O VG - sz s

Plasmodium - Intercellular parasite

j { o ko
28393618762. ¢ ¥~ $P U - A7 Lk
Hyperparasite - Nosema

] L]

28393618763, % V& ¥ - -
Coelozoic parasite - Ascaris
yY ¥ 5
28393618764, % V“‘p' - U= S

Question Number : 52 Question Id : 2839364692 Question Type : MCQ Option Shuffling : Yes Display Question Number
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0

Correct Marks : 1 Wrong Marks : 0



The following are stages of Plasmodium in female Anopheles. Their correct

sequence is

[) Syngamy

IT) Sporocyst

[1I) Formation of Qokinete
IV) Gametogony

V) Oocyst

SR I I L U sk

:,_-?Ig}J' ol
R |

SedJr
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il IV

IS -V
Options :
28393618765, % IV -1-1I-11 -V

28393618766, % 11-V -1 -1V -1
28393618767. % IV -V -1-111-11

28393618768. ¢ IV - 1- 111 - V - 11

Question Number : 53 Question Id : 2839364693 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Euphoria and increased energy are due to

‘??L,(JL;?IU:(}EUUJI.:*:E-:J}.’?
Options :
Cocaine
i
28393618769, ¢ /e ¥



Heroin

-~
28393618770 % U.r: 3

Morphine

o
28393618771, % /= 4%

Smack

/
28393618772 % et &1

Question Number : 54 Question Id : 2839364694 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Limiting nutrient for both natural and agricultural ecosystems is

'!v- o .; Ha-" - # :
a‘:..:uuj J!JU#:‘;&'UEJ;LQ I.-'J'Gu)z’
Options :

Nitrogen

0,
28393618773, ¥ S FL

Carbon

28393618774, % Cf‘*’{

Phosphorus

Rt
28303618775, % S48

Oxygen

-

N
28393618776, %
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Statement I : The animals that can withstand wide fluctuations in salinity are called eurythermal
animals.

Statement II : Animals such as camels can be conformers upto a particular range of temperature and
regulators afterwards.

AL 7 i 21 T a8 s LAt L 1o
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The correct option among the following is

é.__.-g'léﬂ:'_u:utigﬂ

Options :
Both statements [ and 11 are true

28393618777, % V:-?é‘ [} PZL) Q¥

Both statements I and II are false

g % L/:?hu I[ Vil I.:..":.L:.

2839361877

Statement I is true. But statement II is false

< Lk 11 u_L;J-Oa.g Iyl

28393618779. ¥ &

Statement [ is false. But statement 11 is correct
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28393618780. ¢ &
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In a lake ecosystem, Dytiscus comes under

_.-_,ng,rJ"’f;...;:):ﬂ"‘;ajns"u:rwiJy.-’LL.,,':."-”
Options :
Nekton

1,8
28393618781, ¢ dt’

Neuston

-
it
28393618782, ¥ =*



Periphyton

I;‘-
28393618783, # ’:"‘-’""

Plankton

28393618784, % ‘:L;Lﬂ
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The temperature of water in epilimnion of a thermally stratified lake in summer

in temperate regions is

a . B g = - P ' _
U7 el d:-{,d;li__,!,:vl,,,g__.,,' r"r’u'-'u::"-”dw
Options :
28393618785, ¢ 21°C - 25°C

28393618786, % 4°C - 5°C

28393618787 % 4°C-21°C

28393618788, # 33°C - 45°C

Question Number : 58 Question Id : 2839364698 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Identify A and B in the following equation

Casein C%) Calcium paracaseinate _B, Peptones
a

Options :
A. Renin B. Chymotrypsin

F = /
> 4 o o
28393618789, % % VEPE



A. Rennin B. Trypsin

.
28393618790. ¥ we C/ré‘;
A. Ptyalin B. Pepsin
28393618791, % QJ'L" Vr#:;
A. Rennin B. Pepsin

o f
4 (o] e
28303618792, ¢ ¥
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Glisson's capsule is a part of

_.L.A?E—',-f::’f'/"ﬁ

Options :
Pancreas

A

28393618793, % ‘4 =

Liver

—_
28393618794, ¢ /-G

Stomach

28393618795. % DA

Duodenum

28393618796, % S
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The volume of air remaining in the lungs even after forcible expiration is

ZK’ ﬂdr!;JJLufuﬂﬁéﬁjfﬂ

Options :



Residual volume

28393618797. ¢ ZS*LJQ

Tidal volume

#
28393618798, % Zb’ A

Functional residual capacity
123 S K

Total lung capacity

28393618799. *
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The small blood vessels present in the walls of large blood vessels like aortic
arches are called

SR EIAY A DRATEOYIIEt LA PRI
Options :
Coronary vessels

= -
28393618801, ¥ & J.‘.’qu?

Vasa vasorum

28393618802, v (/¥ 3l-13
Chyliferous ducts

I« r '.J'f(
28393618803, # u-l-'.’LV ;"’

Lymph ducts

28393618804, * u.lfjl'd:)
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Pore in the foetal heart of human beings is

ey i loi L AT VI b p 52
Options :

Foramen Manro

- ,.r‘ -
28303618805, 8 A4S 18

Foramen Ovale

St

28393618806. ¥

Foramen Magnum

-rﬁ/')/
28393618807, % T

Fossa Ovalis

F &
28393618808, ¥ U-’ﬁ""/o
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Assertion (A): The glomerular filtrate is progressively diluted as it moves up in
the ascending limb of loop of Henle.

Reason (R) : Ascending limb of loop of Henle 1s impermeable to water and
permeable for the reabsorption of Na™ and CI".

.f_rxgﬂ.;_wz_é)&;g.;s/é’.&iifugugﬁﬂ:.ii/: A
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The correct option among the following is
é-.:.«i?;'lf:jc_uﬂutiqu

Options :
A and R are true, R 15 correct explanation for A

gy&:u;: RELLA i_)_?é"u;n R 1A

28393618809. ¥ -



A and R are true, but R is not correct explanation for A

28393618810, ¥ S~ eobsern REL ﬁu.?é“u;'u R s A

A is true. But R is false.

o
: R P
Ss303618811. % ¢ RUF<C A

A is false. But R is true.

= B
28393618812, ¥ & R LA
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Regulatory proteins of a myofibril are

b L
e -,-.,;(b tL 2, Ler
Options :
Actin and myosin

5 rd
28393618813, ¥ J{Ln!u“)’-l

Actin and troponin

. 1]
&
Oy IIIO
28393618814, % J:’ -

Myosin and tropomyosin

CE DR

28393618815, %

Troponin and tropomyosin

ng:i;:luﬁ.gsf
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Number of vertebrae that form the sacrum

AVERWIYNT

Options :
28393618817. ¢ 5



28393618818, * 12
28393618819, # 7

28393618820. ¥ 1
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Limbic system is involved in the regulation of

.L.t'/.t’ﬁ.!f.a‘b:gf £: ;‘Jj Jxéurli‘@d?b
Options :
Breathing movements

& s
28393618821, % "':’{ff

Sexual behaviour

(14 L?;J

28393618822, ¢

Involuntery activities
* H J ’ -
28393618823, ¥ UL”'U"L’I%&

Auditory functions

ol

* *
28393618824, % WSRO
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Terminal ends of post gangalionic fibres of parasympathetic neural system at

effector organ produce

- * . 5 2 Mees LY s TR “
0.2 ST T Ul 9 - PR (v PESL-I V-0
Options :
Adrenalin

* b
28393618825, % ng’-’-’f’-’



Epinephrine
o 2L
28393618826, % V"/:L?

Sympathin

S
28393618827. # v

Acetyl choline

b
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Catecholamines are secreted by

- H .’ ’
.g.t':’:.xl‘/!:_u’ig': 178"

Options :
Thymus gland

- f -
28303618820, % ML 2

Pineal gland

. -
28393618830, % 240 4157

Adrenal gland
. g
28393618831, ¥ ”-“‘U-”/f-{

Parathyroid gland

[ ] Y
28393618832, ® ”ﬁ"—?‘“/
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Statement 1 : Payer's patches of small intestine are secondary lymphoid organs in
which mature lymphocytes become functional cells.

Statement II : Antigen - antibody complexes are removed by neutrophils and

lymphocytes from the blood.

wnt s LubE od Lo d$re A LT o
Bl B g3l udd m s B Lol as iz g
The correct option among the following is

évg.léd;u:utj.?ﬂ

Options :
Both statements [ and II are true

28393618833, # Uféﬂ 1§ Z1) QER

Both statements | and I are false

25303618834, % W b¥ 1191 ] =l

Statement [ is true. But statement I is false

sk N p e 10k

28393618835. ¢ &

Statement I is false. But statement I is correct

<& nukeF ek

28393618836, %
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Match the following.

List - I List — II
A. Gastrin 1. Bicarbonates
B. Secretin I1. Disaccharidases
C. Cholecystokinin I1I. Saliva
D. Enterocrinin IV. HCI
V. Gall bladder
2 !(ut :!.._?J.L:-’
11 ..':—»-',1-’ I ..':.-f,n’
TV 18 oA
g Feds L B
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Options :

12393618837, % A-IV,B-1,C-1I,D-1I
28393618838, ¢ A-IV,B-1,C-V, D -1l
28393618839 % A-I,B-V,C-L,D-1V
23393618840 % A-NILB-LC-1V,D-V
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Assertion (A): In human beings testes lie in scrotum.

Reason (R) : To maintain high temperature more than normal body temperature.
'~ - 5 e ™ L TP8
ALz LASE 128t gU(A) of s
< § ul,’m(:.-;lffljc.;ﬂif +(R).>s

The correct option among the following is

é__,%'"'!ga.ﬁuti._w

Options :



A and R are true, R is correct explanation for A

18303618841 % ST WA Riiﬁuﬂgufsr R 1A

A and R are true, but R is not correct explanation for A

28393618842, # ‘.'-uj"“’u"*"” RELL f\vféiu;!: R sl A

A is true. But R is false.

. £
28393618843, v 2 RU=<C A

A is false. But R is true.

c;:_égR---.g_hk'A

28393618844, %
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The secretion of these glands washes out the acidic urinary residues that remain
in urethra

_gbfq'gﬁ)’ddﬁ»xr*’ff;jlﬁd .._.«Li':.',c’_ls.;":.;é S i
Options :
Prostate gland

28393618845, ¥ NLS

Cowper's glands

.
My
28393618846. ¥ v

Bartholin glands

28393618847, # ”*"'J:,"w"‘:

Skene glands

-
28393618848, % ”""‘U:b"
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Progestasert is

ek 2y
Options :
Copper releasing intra uterine device

WS Jusnd_tse_/ T 26

28393618849, %

Hormone releasing intra uterine device

J}UJJ:LU&./’;UTQ‘:";Q

-
=\
28393618850, ¢ ™= U

Oral contraceptive pill

7 12 ¢ ; .
28393618851, 8 SE7 vaLJ"-"—-?Ué”LO’:f

Contraceptive injection

28393618852, # d"g'v dl’
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If the blood group of father is A (homozygous) and that of mother is AB, these

blood groups are not expected in their children
. = - - = ol P &
Uf..___.-!) dr:,u':u?,’-i.l;,uuélsa,?sj d»r AB J!I.,;El”sii(ﬁf:)?-s) .,;’:‘:h A1
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Options :
28393618853, % A, AB

28393618854, # B, AB
28393618855, # O, AB

28393618856, ¢ B, O
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The Drosophila with the Karyotype AAA+XX is

S AAA+XX (e IEIL 15
Options :
Intersex

.rfdv

28393618857. ¢ W -

Female

28393618858 % 83k

Metafemale

sy
28393618859, # v

Metamale
Ve
28393618860, * v
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Chromosome with the fewest genes in human beings is

()'L.:*;'Ulu'f‘r:;g:ffl e Ja I

Options :
X - chromosome

3
28393618861, # (.'O)J'X

Y - chromosome
28393618862. ¥ KI:JJJ—Y

Chromosome - 1

1~ 3
28393618863. *

Chromosome - 21

28393618864, % 2 l -'(’e LEJ’I
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Study the following and pick up the correct statements
I. Cvanognathus is a transitional form between reptiles and mammals
II. Prototherians are connecting links between birds and mammals

[II. Wing of bird and wing of butterfly are homologous organs

IV. Biogenetic law states that ontogeny repeats phylogeny

-é.tﬁﬂfur;-tg.é’ulszﬂhfb’iiqjﬂ
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Options :
28393618865, % 11, 111

28393618866, ¢ 1 IV
28393618867, % L, I

28393618868, % 1L IV
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The change in the frequency of a gene that occurs merely by chance and not by

selection in small population is called

G ST b AT # 81 L U b S8 S L 2T A
Options :
Founder's effect

28393618869, # "'J/r
Genetic load

28393618870. % 'a;:xtdf

Gene flow

P o.'"i.
28393618871. # ’L::



Sewall Wright effect

T
18393618870, ¢ < e 0100
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Vaccine for influenza is

/j- e 7
W
Options :
Inactivated whole agent vaccine

- s
28393618873, ¢ *?T"JKN/ S

Attenuated whole agent vaccine

G S0 S
28393618874, # A ) 8 /VL:JA‘
Toxoid

:!r‘[/r’
28393618875, %

Recombinant vector vaccines

28393618876, % -g'JbJ-'/'""U)’
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In an ECG, shortened P-R interval indicates

e bS5 e AP P-R JLECG
Options :
Bradycardia

i A
28393618877, ¥ & Prem O

Hypercalcemia

il

’
28393618878, % w e /';k



Tachycardia
|’ r bl
28393618879, & & PR OH

Hypokalemia

g
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The physical quantity pair with the same dimensions is

'] ."’ - - r ~
_Jﬁgxiﬁ‘bﬁb‘f_.lgi”w!bﬁ_ﬁ|
Options :

angular momentum and work

i._sl}

(‘_r-h'\.

K= 7 s

28393618881, %

work and torque

28303618882, ¥ w3/ 13176
potential energy and linear momentum
- < b3 T
28393618883, ¥ #]J.L:"'U‘b”"":”:t?r"’
kinetic energy and angular momentum
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28393618884, *
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If the error in the measurement of the radius of a sphere is 1%, then the error in

the measurement of its volume is

Knr kel |f£;l.,;~'.f__ 1 z(&“’)fs’fg.,.dﬁ_mu L
Options :
28393618885, # 1%0

1
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28393618886 # 3
28393618887, ¢ 3%e

28393618888, ¥ 9%
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A player kicks a football at a speed of 20 ms™ so that its range is maximum. Another player

at a distance of 24 m in the direction of kick starts running at that instant to catch the ball
before the ball hits the ground. To catch it, the minimum speed with which the second player
has to run is
(2= 10 ms?)
A LS G pas_si) 7 a6 S Azl 5 1520 ms™1 Uy 358
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Options :
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28393618891, ¥ 8v2 ms
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28393618892, % SMS
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A body is projected with a velocity u at two different angles of projection such that

range is same in both the cases. Sum of the maximum vertical heights attained by

the body in the two cases is equal to

- - - - - - P n ", - &= 4 P -
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A horizontal force F pushes a 4 kg block A which pushes a 2 kg block B as shown in
the figure. The blocks have an acceleration of 3 ms™ to the right. There is no friction
between the blocks and the surfaces on which they slide. The net force exerted by the

block B on the block A is

VWL L S K% B S 2kg 23573 A SUL dkg F T PIL
S e TS e n Lud S be3 ms™2 sidbin S oa e LS )

Sneddni /S 3L BSb 4 AT S0,
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Options :
6 N to the right

q. Pl
28393618897, % =-eullr 6N

12 N to the right

s
- o |
28393618898, % =~ eLl? 12N

6 N to the left

28393618899, el ON

12 N to the left

w
28393618900, % = ¢ulk 12N
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The work done when water of mass 20 kg is lifted from a well of depth 50 m using

a rope of linear density 0.2 kg m™, is
LI Lg__tg'f’.-;.u'JJ..-.'str’J”'{].Zkgm i rﬁ'-;ﬂ_ls.:,fﬁ*ffrgzu.z.u:fgfﬁ 50
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28393618902, % 12520
28393618903, « 12250

28393618904, % 15520
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A bullet of mass 5 g is fired horizontally with a velocity of 600 ms™' into a block

of wood of mass 2 kg suspended from a string of length 2 m. If the bullet
penetrates through the block of wood and comes out with a velocity of 200 ms™,
the vertical height through which the block of wood rises is

(g=10 ms~).
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28393618906, ¥ > €M
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Three identical spheres A, B and C each of mass M and radius R are placed along

a straight line such that, adjacent spheres touch each other. The position of the

center of mass of the system of 3 spheres from the center of the sphere A is
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0

Correct Marks : 1 Wrong Marks : 0
The potential energy of a simple harmonic oscillator of mass 2 kg at its mean

position is 5 J. If its total energy is 9 J and its amplitude is 0.01 m, then its time

period in seconds is

L2810 93 $0IF S 51 B30T L6 b6 GG vl L taad 1.2
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Options :
[

28393618913, ¢ 100
T
28393618914, ¥ 30

8
28393618915, # 20

T
28393618916, ¥ 10

Question Number : 90 Question Id : 2839364730 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



The mass of a circular ring is 2M and its diameter is R. Moment of inertia of the

ring about an axis passing through its center and perpendicular to its plane is

-~
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Options :

28393618917. ¥ 4

28393618918, ¢ 2

IMR*?
28393618919, # 2

IMR*
28393618920, # 4

Question Number : 91 Question Id : 2839364731 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0

The time period of revolution of a satellite revolving around a planet is T. If the kinetic
-1
energy of the satellite is proportional T" , then n=

-1 L | & i
T e A0S 24/ e T unisbodd i S s/ &Y Y ayeey

n= .TFJCJ:__ID;.:-’IJ."_-
Options :
28393618921, % 2

28393618922, # 3

3
28393618923. ¢ 2

L | 12

28393618924, %

Question Number : 92 Question Id : 2839364732 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0



Correct Marks : 1 Wrong Marks : 0
The ratio of the lengths of two wires of same material and same volume is 1:4. If the

force required to increase the length of the shorter wire by 2 mm is F, the force required

to increase the length of longer wire by 2 mm is

2mm Lt‘g}){/ le1 :4£ffJJJ}b£QU!fV$d!Lf‘|Z’£ ;_;,'?.at‘.-:ﬁ'__-:.uhg,ﬁ..g

s Kl Lo S50 2mm Sk e F e d ol M SN Lty
= -
Ures
Options :
28393618925. % F

28393618926, ¥ 16F

E
28393618927. ¢ 16

28393618928, # 8F

Question Number : 93 Question Id : 2839364733 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
Two copper spheres of masses M and 8M are falling through a column of glycerine.

If the terminal velocity of the sphere of mass 8M is V, then the terminal velocity of

the sphere of mass M is

JurLis.:-;fﬂM )ﬁu[,?.‘a,a)ﬁc:_.f;:Lb;.;fSM 1M L.HKU:/:?__Q
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Options :
28393618929, # 2V

vV
28393618930. ¢ 4

28393618931, % 4V

vV
28393618932, # 2



Question Number : 94 Question Id : 2839364734 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
The work done in increasing the size of a soap film from 10 cm x 10 cm to

15 cm % 15 cm is 750 plJ. The surface tension of the soap film is

&L S 315emX15¢m e 10emX10cm uf.-_-ftﬁ?d,(.-_-u;)(bg;‘.u..{l
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Options :
28393618933, ¢ 30x10~* Nm"!

28393618934, # 3*107 Nm!

28393618935, % 20%10* Nm-!

28393618936. ¥ 20%10~* Nm'!

Question Number : 95 Question Id : 2839364735 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
The heat energy required to convert 10 g of ice at 0 °C to water at 20 °C is

(Latent heat of fusion of ice = 80 cal g*l,
specific heat capacity of water = | cal g" ok

mechanical equivalent of heat = 4.2 J cal-1)

ST 7Sl nnd LS AQL 2005 Sup1 [105204 00c
Leal gloc 1= z2ue§ den 7 L= 80calg™ 1 ¥ e 7§
(427cal’l =08 ds7
Options :
28393618937, + 4200 ]
28393618938, ¥ 2100 ]

28393618939, * 8400 )

28393618940, * 1000 J



Question Number : 96 Question Id : 2839364736 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
A gas is heated until both its volume and pressure are doubled. If its initial temperature

is 300 K then its final temperature is

& % o~ s F o, F ?P_,l’
St e300k JF Qa1 bW S Fl st s L A &nd 2 S
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Options :
28393618941, # ST3 K
28393618942, # 600 K

28393618943, ¥ 900 K

28393618944, 1200 K

Question Number : 97 Question Id : 2839364737 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
When some amount of heat energy is given to a diatomic gas, the increase in its

internal energy is 100 J. If the same amount of heat energy is given to a monatomic

gas, the increase in its internal energy is
LTI ';_".1 _/,,",;! '\’_"".‘ /;."frf: t‘l"
& 100J Sl QU0 LIO NI s OSSN 7 I8 5 U= S 583
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Options :
28393618945, ¥ 56 ]

28393618946, # 140 ]

28393618947, ¥ 100 J

28393618948, + 84 ]

Question Number : 98 Question Id : 2839364738 Question Type : MCQ Option Shuffling : Yes Display Question Number

: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0



An ideal gas ( » = 1.5) expands adiabatically such that its volume increases by

1500 %. If the initial rms speed of the gas molecules is v, then the final rms speed

of the gas molecules is

7 . - 4
L S triom15000 Ll e s St7( = 1507 deL
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Options :
28393618949, ¥ v

28393618950, % 2V
"!
28393618951, ¢ 2

‘J‘
28393618952, ¥ 3

Question Number : 99 Question Id : 2839364739 Question Type : MCQ Option Shuffling : Yes Display Question Number
: Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :
0

Correct Marks : 1 Wrong Marks : 0
A block of mass 15 kg is hung by a wire of length 1m in a lift moving up with an

acceleration of 2 ms=. If the speed of the transverse wave at the lower end of the string
is 150 ms", the mass of the wire is
(g =10 ms?)
e btk SN wuus;ﬂ_ﬁ-ﬂf ¥ St b U 12ms ™2
Ur’;t'ur}“a 150ms 1 JE’.JJ’E&Y.J&,’; J;L./JjT%L Jl:'/ﬁi'_y’.l:é’
(g =10ms =S

Options :
28393618953, % 4 &

28393618954, ¢ 8 &
28393618955, % 12 &

28393618956, % 10 &



Question Number : 100 Question Id : 2839364740 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When a tuning fork is vibrated together with the air column of a resonance tube,

4 beats are heard per second when the temperature of the air column is 324 K or

289 K. The frequency of vibration of the air column at temperature 324 K is

: ,, e s o ey R .
(ULl SIS P L2 ZNEE Liesbniea
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Ko GG 6, JF 324K <289k {324k JF S0 2ozt
Options :
28393618957. # 136 Hz
28393618958, # 140 Hz

28393618959, + 144 Hz

28393618960. ¥ 148 Hz

Question Number : 101 Question Id : 2839364741 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The image formed by the objective of a compound microscope is

- I, a i & ~ -
JBE 2L Ssp S oL
Options :
real, inverted and magnified

-

* »
28393618961, ¥ 'Anll.""ﬁ

real, erect and magnified

“”
Y i i
28393618062, % 1 4adY] '/)(‘Jf?

virtual, erect and magnified
F b 7’ .
28393618963, ¥ I‘f””/{‘u-flf

virtual, erect and diminished
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28393618964, #



Question Number : 102 Question Id : 2839364742 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In Young’s double slit experiment, the ratio of maximum to minimum intensities of

the fringes is 4:1. The amplitudes of coherent sources are in the ratio
e SV S msc_,_'}fh' (Lugd i nln . F Lk

4 - "o rF o) -
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Options :
28393618965, % 4:1

28393618966, % 2:1
28393618967, ¢ 3:1

28393618968, % 10:1

Question Number : 103 Question Id : 2839364743 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A rod with linear charge density ‘A’ is bent in the shape of a circular ring. The electric

potential at the centre of the circular ring is

€ ansls’ J,:,;:J’/;;C.is;’ ety S E) N ud;u,.fsw__n.-.:,séfwﬁ A’
Options :

28393618969, % 4Eq
28393618970, % €0
28393618971, % €0

28393618972, ¢ 2€0

Question Number : 104 Question Id : 2839364744 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Two concentric circular loops of radius ‘r’ each are kept perpendicular to each other having

‘1" current flowing through them. The resultant magnetic moment is
L.L/J'..J:l.r{):.u";,.{ iud.,:u':ﬁﬁ_ufﬁdsfljdf/(:uLlsixﬁ_iﬂ]r
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Options :

: 2
28393618973, ¢ 1T \/E

.2
28393618974, % 1 \E
28393618975, % IV 2

2
28393618976, ¥ TI \E

Question Number : 105 Question Id : 2839364745 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An electric charge (q) moves along a metal tube with a variable cross-section as shown in

the figure. It’s velocity at the wider position A is V,. Then the velocity of the charge when

it approaches the neck of tube (position B) is
i;}f‘{;.yibe(:utg,ﬁq_guf(q) Ewl_gd“;:.._l:f:_jglwdim_’:)ji;fff.@
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Options :
greater than V,

28393618977, ¢ mbieVy

equal to V,

28393618978, ¥ Gl Vo

less than V,

28393618979, % H""Vﬂ



less than or equal to V,

28393618980, % FdeaV

Question Number : 106 Question Id : 2839364746 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A nicrome wire has a resistance 80 € at a temperature of 30 °C. If it is heated to

1030 °C then the resistance of wire 1s

(Temperature coefficient of resistance of nicrome, @ = 1.7x 107~ /°C)

-
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Options :
28393618981, ¢ 93.6 Q
28393618982, % 00.4 Q)

28393618983, % 187.2Q

28393618984, % 126.6

Question Number : 107 Question Id : 2839364747 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Two wires of same material and same length 20 cm are wound in the form of two coils A

and B. The coil A has 4 turns and the coil B has 2 turns. If same current is sent into the
two coils, the ratio of magnetic induction at the centres of the two coils A and B is
A ré._lat'l.?l}y‘ﬁ Bt A L,J}‘”-f!!:i‘,l;:)r”)—.hd}bd}p 20cm 'L‘-;;._"-lmdz..{!
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Options :
28393618985, ¢ 4:1

28393618986, % 1:4

28393618987, % 2:1



28393618988, % 1:2

Question Number : 108 Question Id : 2839364748 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A toroid has 100 turns and radius 10 cm. If it carries 1 A current then the magnetic field
inside the toroid is

(Permeability of free space = 4 x ID'THm_l)

L3 el i3 L61A JEU e 10cm BB i 21,9 LI s £ 100

(41 x 107Hm™ = 0ol 6% 1 S8 1) L a5 50
Options :
28393618989, % 4x107 T

4

28393618990, ¢ 2107 T
A

28393618991, % 1x10° T

A
28393618992, % 3*107 T

Question Number : 109 Question Id : 2839364749 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A square loop of side 22 cm is changed to a circle in time 0.4 s with its plane normal to

a magnetic field 0.2 T. The magnitude of induced emf is

SR LS b & Joce o Jos L 0.4seC & 22cm L’,’f‘b".-_,-"?.'ﬁbb-’f‘f:/..{i
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Options :
28393618993, ¥ 2.3 MV

28393618994, ¢ 0.6 mV
28393618995, % 9.9 mV

28393618996, % 13.2mV
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Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
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In the given network, if the charges on the capacitors in steady state are same, then (C—') is
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Options :
28393618997, ¢ i3

28393618998, # 313
28393618999, % 1:1

28393619000, % 1:3

Question Number : 111 Question Id : 2839364751 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Consider a small cube of side 1 mm at the centre of a circular loop of diameter 20

cm carrying a current of 2 A. The magnetic energy stored inside the cube is

,,?/_,sfg_,f_u;é" Imm //’ L3S0 LB 20em L3 aud $/62A
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Options :
28393619001, % X 10714 ]

28393619002 ¢ 21 X 10714 ]
28393619003, % 8mx107*]
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28393619004, ¥ 2w x107" J

Question Number : 112 Question Id : 2839364752 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
A series LCR circuit with inductance 20 mH, capacitance 50 pF and resistance 25 Q

is connected to a variable frequency supply of 220 V. The frequency of the source at

which resonance occurs is

JU:Z. 220v :':J:.u"(: LCR Lljéxcﬂb‘f'}ﬁ'ﬂ J:I:-;j_;S[}pF::,;'L!.?[}lnl-l
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Options :
28393619005. # 1000 Hz

28393619006, ¥ 159 Hz

28393619007, ¥ 59 Hz

28393619008. ¢ S0 Hz

Question Number : 113 Question Id : 2839364753 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Arrange the following electromagnetic waves in the order of increasing frequency

Brie WL bt nz 1 E izt S ad iz in
A. Microwaves

uff:/? L
B. Infrared waves

Sl

C. Ultraviolet rays

- -

S

D. X-rays
JTL2
Options :

28393619009, ¢ A, B, C, D
28393619010, * D, C, B, A

28393619011, ¥ B, C, A, D



28393619012, ¥ D, A, C, B

Question Number : 114 Question Id : 2839364754 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
When light radiation of frequency 6.97 x 1014 Hz is incident on a metal surface, then

the electrons are ejected from the surface with a maximum speed of 6.6 x 10° ms.
The threshold frequency of the metal surface is
(take h = 6.6 x 10-** Js; mass of electron =9 x 1031 kg)

6.6 X 105ms—1g+3x&§345 ;f.:,lmu/ 2 S Y153 476,97 X 101Hz
_f;:;ﬂd;;ht{i/J:,megwiﬁ&,;u;ful}ﬂr_;&uq}(yuf
(h = 6.6 X 107345,9 x 103 kg ==l St 1)

Options :
28393619013, # 5 x 10" Hz

28393619014, ¢ 4 x 10" Hz
28393619015, % 3 x 10" Hz

28393619016, # 1 x 10" Hz

Question Number : 115 Question Id : 2839364755 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A hydrogen atom 1s excited from ground state to second excited state when it

absorbs a photon. The energy of the photon 1s
e t'flfuw"”f‘)"""\-{;’—/”j’ff—{f"—&"bL«":J-'-Z-‘j-‘f‘f-::‘-*;c)k:ﬁ-x::?ﬁuér’l:
SRR f # = H
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Options :
28393619017 % 3.4 eV
28393619018. ¥ 10.2 eV

28393619019, ¢ 12.09 eV

28393619020, ¥ 12.75 eV



Question Number : 116 Question Id : 2839364756 Question Type : MCQ Option Shuffling : Yes Display Question
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The half-life period of an artificial radioactive substance is 10 days. The time taken

for the activity of the substance to reduce to 1% of its initial activity (in days) is
(loge10=2.303)
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Options :
28393619021, # 990

28393619022, # 70.5

28393619023, ¢ 66.5

28393619024, ¥ 46

Question Number : 117 Question Id : 2839364757 Question Type : MCQ Option Shuffling : Yes Display Question
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
200 MeV of energy is released when a 92U>** nucleus undergoes fission. A nuclear

reactor of power 192 MW uses Uranium-235 as fuel. Assume that all the energy
generated in the reactor arises from the fission of Uranium-235.The amount of

uranium consumed per minute by the nuclear reactor is nearly

L 152,250 192 MW LI h:.'_.g::&,rﬁjtl;zﬂﬂ?\dev um.-uifjtéjz_:)} 92U23
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Options :
28393619025, % 2-35 Mg

28393619026, % /-8 Mg

28393619027, « 141 mg



28393619028, % 540 g

Question Number : 118 Question Id : 2839364758 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In a CE transistor amplifier, when a signal of 25 mV is added to the base-emitter

voltage, the collector current changes by 2 mA. If the load resistance is 5 k€2, the

voltage gain of the amplifier is
It . -, . - & . 8
2mA u::;d.f:.u".a;ﬁ_.}.ﬁ.;.or'E:.ff_;_,"bfl.fi,"’cr'_. 25mv i/ UsH ~~1/CE
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Options :
28393619029, # 10
28393619030, # 25

28393619031. * 100

28393619032, ¢ 400

Question Number : 119 Question Id : 2839364759 Question Type : MCQ Option Shuffling : Yes Display Question
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The function of which logic gate is represented by the following truth table

_.~:_r/;wfu‘ﬁziqﬁwifdwéﬁuﬁj.yp

INPUT | OUTPUT
h :-,?; A
A| B i 4 INPUT LOGIC GATE .
00| " o~
i OUTPUT
1 0 | '.',/
| | 0
Options :

28393619033, # OR

28393619034, ¥ AND



28393619035, ¥ NAND

28393619036. # NOR

Question Number : 120 Question Id : 2839364760 Question Type : MCQ Option Shuffling : Yes Display Question
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A TV transmitting antenna is at a height of 80 m. The radio horizon of the

transmitting antenna is

(take radius of Earth = 6400 km)

En s Mo e Eing$abd Somess g L TV

I & e ;
(& 6400km=4* 326 )2 5)

Options :

28393619037. ¢ 32 km

28393619038. ¥ 64 km

28393619039, ¥ 1024 km

28393619040, ¥ 3215 km
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The radius of second orbit of He™ 1s

-?);Jﬂq’{;u(_/nL He~
Options :
28393619041, % 2.116 A

28393619042, ¢ 1.058 A
28393619043, % 0.265 A

28393619044, ¥ 0.132 A

Question Number : 122 Question Id : 2839364762 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The ratio of wavelengths of electron waves in two orbits is 4:3. Then the ratio of

kinetic energies of electrons in those orbits is
LusdahasSQuirEudh b Fain 43 L UM SErdr Luzyd A

C. |
_d fu_.‘_ff)

Options :
28393619045. « 9 : 16

28393619046, ¥ 16 : 9
28393619047. % 4 : 3

28393619048, # 3 : 4

Question Number : 123 Question Id : 2839364763 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
lonization enthalpies of five successive elements in a period are 899, 801, 1086,

1402 and 1314 kJ mol™ respectively. The corresponding elements are

=

s 1402 <1086 <801+ 899 .n,-.i_-i"uf.'.fu(ojti*::wf:;tgl)duu}"dm;f /L‘fﬁ-;_&_

-0 S e IS 1314 KT mol!
Options :
28393619049, * Li, Be, B, C, N



28393619050, ¢ Be, B, C, N, O
28393619051, % B, C, N, O, F

28393619052, # C, N, O, F, Ne

Question Number : 124 Question Id : 2839364764 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many of the following molecules are polar?

BF3, NHz, COz, SO2, SO3, CCly, H20, SnCl2

?Usé-b’fgucdianﬂ

BF3, NH3, CO2, SO2, SOs, CCls, H-0, SnCl»
Options :
28393619053, ¥ 3

28393619054, ¢ 4
28393619055, % 5

28393619056, # 6

Question Number : 125 Question Id : 2839364765 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In which of the following, ions are correctly arranged with respect to their bond

orders?
- 3 . 'l )
_u"}}.ﬁ'}-"uf%;'/gulur_"’.y(u'*ut:gjﬁfc-ygZ_.J,uf vy
Options :

2- e 2— s
28303610057, ¥ N2- > 07> 07> G

28393619058, ¥ 022> O >Np2—> CyF-

28393619059, 8 C22 > 027> 022> N2~

== N2> > O
28393619060« OF ZNz==0r=1y



Question Number : 126 Question Id : 2839364766 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

At T(K) a closed vessel contains equal weights of helium, methane and oxygen. If
the total pressure exerted by the mixture is 220 mm, then the partial pressure exerted
by methane is

-

- Fad ! g;."" 'l 2 X & - N
Ly 4P ’-'_L..Lf.lcj" o Tl ‘(.'.l-'*{ur-" J':é:g’z:d:Lf{_u’; T(Klu':c;,:y__g

i ’;’[_.;J,zs’,;_-,;ﬁ},«; 220 mm ¥ AZE
Options :
28393619061, ¥ 110 mm

28393619062, # 160 mm
28393619063. ¢ 40 mm

28393619064, # 73.3 mm

Question Number : 127 Question Id : 2839364767 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The corresponding coefficients of PH, and H,PO, in the following equation after

balancing are
e P = - - . - . .
Wl 38 Hpo: o PH,LENSREL St S etlas i

P,+ OH  + H,0 —» PH,+ H,PO;
Options :
3 and 3 respectively

28393619065, % Ss LA 3 a3

| and 3 respectively

28393619066, ¥ s 31

3 and 1 respectively

28393619067, % S L1013

2 and 3 respectively

28393619068, ¥ Ss L3012

Question Number : 128 Question Id : 2839364768 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Which of the following is not an extensive property?

- uﬁfu"lfé“;di 32 I AP
‘ -
Options :
Pressure

28393619069. ¥ '!Ef,
Enthalpy
25393619070 % e @
Heat capacity
&5 of ,
1% VHL;\-""-'?

Internal energy

e -
Yo "J-’
28303610072, % QIO 12

2839361907

Question Number : 129 Question Id : 2839364769 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
At T(K) the equilibrium constant for the gaseous reaction N, +3H, —=2NH, is

1 3
25. Then the equilibrium constant for the reaction NH, \———"E M +EH: at the

same temperature 1S

e - [ % - o r &=
JEULUF $1e2s P96 N, +3H, == 2NH, JUS" L0 TEK)

ol s i B
Ko PTG N, =N, +2H,

Options :

28393619073, % 25

28393619074, % 3

28393619075, ¢ 0.2

28393619076, % 12.5

Question Number : 130 Question Id : 2839364770 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Assertion (A): HaS has higher boiling point than H.O

Reason (R): Molecular mass of HzS is more than H,O
- - i
~ebrmlic H0 J 2.6 HiS (A)SS >

_c;:_dﬂuk)c'_ H-0 —"';{L;L-'JHzS : (R).21
The correct option among the following is

é—-h..-r&.“gu:t_)"i.?a‘ﬁ'

Options :
(A) and (R) are true. (R) is the correct explanation of (A)

J(A) c;'_..:-’l.-hg (R) ;leﬁéﬂu;u{R} 4 (A)

28393619077. %

(A) and (R) are true, but (R) is not the correct explanation of (A)

J (A) c_u.f" .:.:L.B:g (R) .uwé" Uf(R) 21 (A)

28393619078, ¥
(A) is true but (R) is false

< bk (R) :;-g (A)

28393619079. # &

(A) is false but (R) is true

.;.f; (R) ;.g.hié (A)

28393619080. ¥

Question Number : 131 Question Id : 2839364771 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the incorrect statement from the following

‘épﬂﬁﬁjd/dkbﬁ;iig;ﬂ
Options :
order of hydration enthalpies Li' <Na' <K' <Rb" < Cs’
# -
Jsonsionst v Lit <Na* <K* <Rb* < Cs'ef S STzl 7

KOz is a superoxide

L ¥ i y
| KO-
28393619082, % ‘:"'E-’J'J 4¥=%/KO;



Thermal stability of Li,CO, < Na,CO, < K,CO, <Rb,CO, <Cs,CO,

g o .. f
25303610083, 8 O4A(¥ 0170 Li,CO; < Na,CO; < K,CO; <Rb,CO, <Cs,CO,

LiHCO, 1s not obtained in the solid form

393008 e X S ey LiHCO,

Question Number : 132 Question Id : 2839364772 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The products formed when magnesium nitrate is decomposed upon heating

: - L ; TV
;WHLULKJQ‘UU}JJ_.J..Jf'\fliid_rfr}l’)!_p_’:j, L-{’.fg‘
Options :
28393619085, % Mg02, NO2, Oz

18393619086, ¥ Mg02, NO, O2
18393619087, v MgO, NO2, O2

18393619088, ¥ MgO, NO, Oz

Question Number : 133 Question Id : 2839364773 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The element of group 13 with lowest E° . (in V) is

-’ r

-« E° () Jf“-*":?/-':’e:b’lf%._.;s,ﬂ

Options :
28393619089, # Ga

28393619090, ¢ Al
28393619091, # In
28393619092, * TI
Question Number : 134 Question Id : 2839364774 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Correct statement among the following is

,Lugéawu’,'i.;w

Options :
+4 oxidation state of Pb is more stable

L] - - . | : .-::* ~
28303610003, % S—OHLLPubis et +4 o Pb

Catenation ability of C < Si < Ge < Sn <Pb

28393619094, ¥ =W A C<Si<Ge<Sn<Pb

Diamond has a crystalline Lattice

- [} {G
I L3
28393619095, ¢ .LL‘(‘O'-?Lf /5

Graphite is a bad conductor of electricity

. - . -
28393619096, % .va”-.-";'i}-iéfb'f

Question Number : 135 Question Id : 2839364775 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The correct order of the relative stability of the following carbanions is

L.,.-_-_:/“édd ’{.%F'GMJU'ML,E}QD{HEL:HA?

A. HCc=c®

o
e
C. H;C—CHs

D Q
A ;i B B G
Options :

28393619097. # A>D>C>B

28393619098. ¥ A=>B=D=>C

28393619099. ¥ B>D>C> A



28393619100. ¥ B=A>D=>=C

Question Number : 136 Question Id : 2839364776 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
An alkyl halide “X” upon reaction with sodium metal in dry ether gives
2, 5-dimethyl hexane. What is ‘X7

Ip P o N T cll T I-’ - P . s ik Z g
c...L't-,._-,::f?._,-" wegise, 5- L/ ._,"'L:'L,Cg:,a?:"gﬁ'..k‘-‘#;’v.:'_.c:.br;’fiir X Xl FET

' S
YUl X
Options :
[sopropyl bromide
ks L'" {'
M mlar
28393619101, % "= ¥ 2%

Isobutyl bromide

o rJ
b F‘ I-’
78393619102, ¢ 4 w4 b

Secondary butyl bromide

£8393619103. % 4 4L bLs e

Secondary Pentyl bromide

ko T J_""
28393619104, # Ryl g

Question Number : 137 Question Id : 2839364777 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following statement is not correct about X and Y from the given
reactions?

e by UL e st s S AL Y X LSO L s
Na/ Liquid NH; . 3
H;C-C=C-CH,—
H,
Pd|C

-y
Options :
X is cis alkene and Y is trans alkene

& trans alkene Y cis alkene ..fl %
28393619105, ¢ ¢ -



X and Y are geometrical isomers

.%'(}(’-J,c«:;:i Yl X

-
28393619106. * -

Dipole moment of X is less than Y

i_-_.ﬁ’.:_ Yju‘l:b‘fgx

28393619107. #

Y is less stable than X

& x;:_{:;(‘v(fY
28393619108, # ‘ R

Question Number : 138 Question Id : 2839364778 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The product obtained when sodium salt of p - methyl benzoic acid is heated with

sodalime is

Sl nip i Se S L i Lifsr Lo Lo S o

Options :

28393619109. *

o
28393619110, ¥

28393619111 *

-~ T
—
Y
| L,
| >

28393619112, ¢

Question Number : 139 Question Id : 2839364779 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Atoms of element B form ccp lattice and atoms of A occupy 1/3 ™ of tetrahedral

voids. The formula of the compound formed by the elements A and B 1s
-;_,;'}'L/:.“"J(.ﬂ? 1/3 I.Lﬁf’;l_q,:i.’c': A JJI-VE-‘LL.«;JLQ cep /;}".’L/‘:’ B

e B p /2 5EB A LU
Options :
28393619113, + A2 B3

28393619114, ¥ Az B2
28393619115, % Aa B3

28393619116, % A3 B4

Question Number : 140 Question Id : 2839364780 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following 0.01 molal aqueous solution will have the highest freezing

point?

"‘/ - - .- ¥ - - . o
e b 5 7 T# s TI00.0105 L5 5000
Options :
Sodium Sulphate

2 b
28393619117, % -’v::"'l"'ﬁﬂ"

Aluminium Sulphate
28393619118, % -"::“J"(‘:'JJT

Potassium Chloride

jﬁ")ﬁff‘lﬁ{_’

28393619119, # =

Sucrose

28393619120, ¢ J!/C'

Question Number : 141 Question Id : 2839364781 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The molar conductances of sodium acetate, hydrochloric acid and sodium chloride
are 91.0, 425.9 and 126.4 S cm® mol™ respectively at 25 °C at infinite dilution. What

1s the molar conductance of acetic acid at infinite dilution?

o S lirm 27 LKty 1 SBULE 250c
T 278 1 B St3Ue126.4'S cn? mol! 31 425.9 91,0, s

-

¢ sl

W,

Options :
28393619121, ¢ 390.5 S cm” mol!

28393619122, % 461.3 S ¢cm? mol™!
28393619123, % 643.3 S cm” mol”!

pl I
28393619124, % 43.5 S cm”mol™!

Question Number : 142 Question Id : 2839364782 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The rate constant of a first order reaction is 6.4x107° S 'at47 °C and 1.6x107° S at

27 °C. The activation energy for the reaction is around
(log 4=0.6021, R = 8.314JK"' mol™)

P a % 1 [P - - &
ST 27C se 643107 TP AESG L 588 47°C

OndtiSedE JPU1-c 1.6x107 s,
(log 4 =0.6021, R = 8.314JK-! mol!)
Options :
28393619125, % 110.0 kJ mol’

28393619126, * 27.0 kJ mol!
28393619127, ¢ 55.0 kJ mol™!

28393619128, ¥ 220.0 kJ mol!

Question Number : 143 Question Id : 2839364783 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following graph represents the correct relation between adsorption of a

gas on unit mass of solid adsorbent and pressure at a particular temperature?
- - m - - ’.ﬂ"
e i mS oLz L . 1ol 2 F L = L3065 56
-rT'._L-Jsr(f':})Ji)’ulsi.l.l-?!f%;é‘&.bi-?

Options :
Tog~.
m
O
28393619129, % logp —>
i
m
)
28393619130, ¢ P —
l-::g;1
m
. 1
28393619131, % ogp —>
"
m
8]
28393619132, % P —

Question Number : 144 Question Id : 2839364784 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following
.»:J"L‘-‘ Qs

List — I (< @ — 1) List — II (< %8 —II)
(Reaction /&ilalal) (Process/ =)
A. ZnCO;—— Zn0O +CO, I. Roasting
B.  2ZnS+30, - 2Zn0+2S0, Hises
Al,O; +2NaOH +3H,0 —2Na [AI(OHL] II. Calcination
IS
III. Froth Floatation
55 Sl
IV. Leaching
Saia

The correct answer is
s mmaa Ui Jd A 2k

Options :
28393619133, % A—1 B-1I , C -1
28393619134, ¥ A—1 B-1II , C-1v
28393619135, % A—1I, B-1 , C -1l
28393619136. ¢ A — 11, B-1I , C-1Vv

Question Number : 145 Question Id : 2839364785 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify X and Y in the following reaction

S Al Sy 5l X e dalad o as o
HNOE—P—J'?L;» b

Options :
28393619137, ¥ H3PO;, N,Oq

28393619138, ¢ HPO;. N, O

28393619139, ®* HPO;, N,O



28393619140, # H3PO;, NO

Question Number : 146 Question Id : 2839364786 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statements from the following

o oo o "
ESs8 ol = tdizin

A. Peroxo bond 1s present in H2S0s and H2S:0s
Lt’ﬂ)ﬁfﬁ:/T{gﬂ H>S.0g .3 H>SOs

B. S-O-S bonds are present in H2S:07
e Uy Ry 4 S-0-S (U~ HiS:07

. Oxidizing power of H2S03 is more than H2SO4
e vl je HaSO4 .::Jl.bdgf JHg_so;

D. In H28;0s, the two sulphur atoms have different oxidation states

L e §aF G 12 L b JH,S:0s

Options :
28393619141, % A, B & C only

28393619142, * B, C & D only

28393619143, v A & B only

28393619144, % C & D only

Question Number : 147 Question Id : 2839364787 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following property is not correctly matched?

k s e il :
?é-dﬁuﬁ(;ﬂga-z"bff J:ut.s,_:uﬁ’
Options :

HI > HBr > HCI = HF : Acidic character

28393619145, # HI > HBr > HCI| > HF: ME‘UE:;



HF > HC1 > HBr > HI : Bond dissociation enthalpy

28393619146, ¥ HF - HCl=HBr>HI: dﬁ'dl}'jlu&:

HCIO = HBrO = HIO : Acidic character
A L
28393619147, % HCIO > HBrO > HIO : .:'.--':’L;U‘/

HF = HCI > HBr = HI : Reducing strength

28393619148, v HIE = HCl > HBr > HI : .;_,su,J;f

Question Number : 148 Question Id : 2839364788 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following molecules contain same number of lone pair of electrons on
‘Xe’ atom.

L sazre 20 G s p2 LA LS S5 2 0ue

A. XcF,
B. XeF,
C. XeOF,
D. XeO,

Options :
28393619149, ¥ A, B& C

28393619150, ¢ B, C & D

28393619151, * A, B& D

28393619152, % A, C& D

Question Number : 149 Question Id : 2839364789 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
In aqueous solution identify the pair of ions which are colourless

é&ﬁJdﬁﬁJdﬁ'uf;@.dzJ:gn&T
Options :
28393619153, ¢ S€ 5 Zn**



24 .24
28393619154, % S¢°, Zn
24 24
28393619155, % ¥V, Cu

=3+ 3+
28393619156, % 117, Mn

Question Number : 150 Question Id : 2839364790 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
How many of the following complexes are diamagnetic?

S el ron St iue

.

[Co(NH,), ], [corJ", [Ni(cN),]", [Ni(co),]. [nicL]’
Options :
28393619157, % 3

28393619158, % 4
28393619159, ¢ 3
28393619160. % 2
Question Number : 151 Question Id : 2839364791 Question Type : MCQ Option Shuffling : Yes Display Question

Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A polymer sample contains 25 molecules with molecular mass 20,000 and 25

molecules with molecular mass 40,000. The number of average molecular mass of

polymer is

ELSUA5 s 20,000 e S dt-ctnfT Ludas 26l af]
?Jﬂy[:,‘,fgbbsljﬁp(,)vﬂﬁzf_m,t}ﬂﬂ :.:—,{

Options :
28393619161, ¢ 30,000

28393619162, # 20,000
28393619163, ¥ 40,000

28393619164, #® 60,000



Question Number : 152 Question Id : 2839364792 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, sulphur containing amino acids are

UE'&.;!' U.:i_bf‘f..r/&‘ ;_,":U_ES..?JA'-“

A. Lysine B. Cysteine C. Proline D. Methionine
i _‘J;__.r-' .‘J . -“

- -.#
o) Ch V3 ¥4 U,
Options :
28393619165, % A & B only

28393619166, % B & C only
28393619167, v B & D only

28393619168, % A & C only

Question Number : 153 Question Id : 2839364793 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following

List — I (Example) List-1I (Type of chemical
substance)
A. Cimetidine I Artificial sweetener
B. Alitame I1. Analgesic
C. Morphine III.  Antacid
D. lodoform IV.  Antifertility drug

V. Antiseptic

AL AR

- H 1B . o 1
Cass i — ] (llie) S b — 1 (P Zat1dee)
L 2 2505 1 odelle oo giuae
A AT L sl 20 il
B. (~ ol m. (i) A2 55 aa
3 IV.  msd) sk ol
C. ¢~/

V. Antiseptic
D. !".*G!_:ff

The correct answer is
1.5 '
Sl e e 0 aa o
Options :
28393619169, ¥ A—LB-IILC-1V,D-V

28393619170, # A= 1L B-1,C -1V, D -1l
28393619171, * A=V, B-1,C- 1, D-1II

28393619172 ¢ A=IILB-LC-I,D-V

Question Number : 154 Question Id : 2839364794 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



What is the correct order of boiling points of the following alkyl halides?
Ceil SS2BLINS O350

L. €H,-CH; -CH, - CH, —Cl

I1. CH,-CH,-CH,—CH,—Br

I11. CH, - CH, - CH- CH,
Br

IV.  (H3:C):CBr
Options :
28393619173, ¢ LI =111 = IV > |

28393619174, % 1 =111 = IV =11
28393619175, % II=IV=11=1

28393619176, % 1 =1V =111 =11

Question Number : 155 Question Id : 2839364795 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Assertion (A) : A mixture of o- and p- nitrophenols can be separated by steam distillation

Reason (R) : p-Nitrophenol is steam volatile due to intramolecular hydrogen bonding
_.;::_[:Cl:?y;.r}‘%-x}.Léfu(fwl(ﬂjfridujjf}m&J!’};JT : (A) J;";

~ QoL &t (St S U bz 22 5L F s : (R).2
The correct option among the following is
éy%‘h'féapf:uti.;.fﬂ

Options :
(A) and (R) are true. (R) is the correct explanation for (A)

28393619177 # L‘( (A)::-:.-JL};g {R)_,L(é;(R) #I(A)

(A) and (R) are true, but (R) is not the correct explanation for (A)

$ @) e 2ol @) F {_é‘ R) #(A)

28393619178, %



(A) 1s true, but (R) is false

sk (R) .-;_55 (A)

28393619179. ¢

(A) is false but (R) is true

28393619180, * ‘f'g(R} < LE(A)

Question Number : 156 Question Id : 2839364796 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The products A, B and C in the following reactions are respectively

Ml c B A LLVUU':LLJ-L#"J,.;?J#

Cu
CHs - ('i‘H - CH;W A
OH

OH

Conc. HNO:
> B

f/ HNO:
OH
CHCh + NaOH (aq) S
- = g ”’ (
CHCLs + NaOH 3"5"
Options :
CH:-C-CHs
I
O

28393619181. ¢

CH3 - CH = CH:

28393619182, %

OH
015@,_\;03
NO:

OH

OIN©/YOz

NO:

OH

, @,CHO

OH

@,CHO



OH OH

L=t =ty COOH
I

O

28393619183, # , NO:

OH OH

CH]. - CH — CH3 COOH

28393619184, % s NO:

Question Number : 157 Question Id : 2839364797 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Compounds that participate in self aldol condensation are

L oSNNS,

T ACHO o (.I}
_~~_COCH, A
O | HCHO ol O
b S gt "‘\..[,. -~
(9]
A B U D E

Options :
A,B,C & E only
28393619185, ¥ =/~ A,B,C&E

A,C,D & E only
28393619186, % =3/ A,C,D&E

B, D & E only
28393619187, * w=/° B,D & E

B & D only
18393619188, ¢ =/ B & D

Question Number : 158 Question Id : 2839364798 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The correct order of pK. values for the following compounds is

.*;_.__;:}g.fu;-f pKa ZJ_JZ..;L,-(/JHE.?J,&

COOH COOH COOH
@ @ F;C COOH
T CH,
A B C D

Options :
28393619189. ¥ A>D>C=>B

28393619190. # D>A>=C=>B
28393619191. ¥ D>B>A>C

28393619192. ¥ B> A>D=>C

Question Number : 159 Question Id : 2839364799 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the products X and Y in the following reactions

2 N CHCl;+KOH
Bry +NaOH »X 3 s Y

Benzamide o]

_gﬁfﬁ.{‘f MIX JJ@;J:E.?J,&V

Br,+NaOH CHC1,+KOH

i

> X >Y

12U~
Options :
28393619193 b4 (‘hHSCHENHE‘ CﬁHSCH:CN
28393619194, % CH,CH,NH,, C.H,CH,NC
28393619195, % CeHsNH,, CHCN

28393619196, ¢ CeHsNH,,  CH NC

Question Number : 160 Question Id : 2839364800 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

The major products P, Q and R respectively in the following reaction sequence are

R 1 Q Pl I idr L= i) 50k

i) CH, Mg Br _

NaNO,+HCl _ p, CuCN
0°C KCN

Options :

28393619197. ¥

N,Cl

e

28393619198, #

28393619199. #

28393619200. #

i) H,0"

o
On
On
On

R



